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[On lAeskey - o e R I
29a) | The briglily-coloured flowers altract animals / insecls / pollinators.
By [ Anicrals aie he fruit fogether vith the sacds, moved some distancs away aad passed Ihe
seeds cul in theyr droppings away from the parenl plani
o) K heips (o prevent overcrowding o o
CR
it reduces competition for sunlight, watec, imineral salts and space.
T30a) | Organism ¥ fzeds on Orgamsm X (hal ieeds on be blood of OrganismZ o
) | Organism Z provides a source of food fof Organism Y. - T
L . —————e ]
i} | No. Organism X has 8 legs but insecis have € legs
L . S
31a) |
L
|| e K
by" | The population of J will decraase as J has less plants to feed on. K has tewer J o feed
on so the population of I wiil deciease
[T S — U e e e —— =
| 32a) i) B
l it 3]
S R R
f ) His heart rate increased as his heart pumped biood faster (o send oxygen and digested h
food faster o all parts of the body. i
) Alf systems licked. T T T T
I
“534) | Organism G ielps Animal P i camauilage among the frees o avoid being easily spotied |
] by their predators. |
LBy The droppings of Animal Z pravides nulfients for the rec when If decomposes
c) | Animal Z can use its sharp clevs [0 scralehiin] sreihon fts predztors. ]
| !
: Its fiexible neck/spinefability to rotale tis head can nalp it spal predalors more
| easily/earlier/behind so that il can gei ready to escepe from the predaiers firstearher
I i
3éa) | Friclional force T T
b] | Friction belwean (he knifz blade and ebject M produces heal. T T
) The knife must be sl;onahlaajl an apple withoJ!'ﬂﬁlreaking__“-'- T T
“35a) | As the mass of lhe ball ncrease, lhe height H decreases. T i
‘5—)__' "o ensure her resulls are reliable. . T o |
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35c) | Replace the original spring vith a thlckarmlirernonger 3pring.
|

R e

d There vill be mare (elaslic) patentia® enérgy in the compressed spring that can be converted 10 o
more kinelic energy of the spring which is converted lo more (gravitafionat) potential energy.

———— = U —r-

35a) | Slrength -

5

by i Stalnments Variakies
{1 Maienai of String
it | Mumbet ef slings v

each slnng uat! i
breaks .
v i Dislance beween s
{__i_the two retont slands

i W | Mass load hung onto

———
-

o) | Siring Y. ILis the strongest string and could hold the most mass before breaking, so it can
hotd the mesl wel clothes without breaking.
| 372 r Chps tested ! SulD of Gircuit tester |
EiL L ]_ _ lightsup i
H Aand C 1 N
7 AandE ] |
K Band D i j
n ‘BandF T
[ . 2o
|
d—-—..-_.-.-)._.r-—-- e e ——— - —— T — —— —— e
b} 0 |
&

|
ﬂ-:m—‘[

ool K

ey Tllis 2 conducior of electricily/ electrical conductori allows electricily to pass through/
' conducts eleclricity.

r

0] I B J‘E"’I[!a- Lnoroy (Da tery)
| elecircal energy {circunt)
i light energy (light bulb;)

Any lemperalure belween 55°C and 85°C

HEdl ravels from holter waler lo colder water.

Hud from the water in T is Jost to the water in 5.

o — L ma e ——

P 20" 7 Room temperature

?]_TTITE“:&I"H would lose heat o the surroundings until fhe temperature of the water reaches
i room lemperaturelequiliprium,

i

: |

L — _— .
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29a) | Draw water droplels on the inner side of the isns (facing lhe eyes) only

ar— [P ——

b)

 dDa) -j_“r_ii-i‘:i-;'}il_lggﬁ@]ﬁas silexlure of wooden bizek does nol aflecl disiance moved by lie

The warmer water vapour (in the air) inside the goggles came inio conlact/ touchea with
the cooler [inner) surface of [he tens...

or

Warm watar vapours in the goggles come inlo contaci with ihe cool lens.

——

... 'oslineal to the surdace and lurned to waler dropiets
ar
... condensed inlo water droplets.

i

woaoden blockdhe resulis

The distance moved by the woaden block is Ihe greatest.

Add more baoles to the ramyp. This witl increzse the height of the ramp and increase the
GPE of the troliey which will convert to greater KE of lhe moving trelley, iransferiing more
KE {o the wooden block.
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